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20. A two stage circuit is shown in Figure 4. It's BJT parameters are 3, = /3 = 150,
VBe1 = Vg2 = 0.7V

a) Calculate the DC parameters of the circuits i.e Vi1, Viz, Vir. g1, Ie, oo,
Iga, Ver, Voo, Vs, Vor: & Ve

b) Calculate input impedance of the circuit

¢) Calculate output impedance of the circuit

d) Calculate voltage gain for the circuit

VCC = +20V

R1 RC
7.5k 1.5k cc2

@ |
S

RL

npn2

A

R2
6.2k

—| —1
1pf npnl
R3 RE
3.9k 1k 10p

:

Figure 4: Question 20

Vin

¥

Answers: VBI — 44318V VB? = 11477V VE] = 3.73V ]El = 3.73mA '
Iey = 3.73mA Ico = 3.73mA Ig2 = 3.73mA Ver = 10.777V Vos = 14.-“’
Via = 10777V Vepr = 7.045V  Voge = 3.625V g = gna = 143.53mA/L

rel = Tnp = 1.045k2  Z; = 727.458Q0 Z, =1.3kQ Ay, = —0.9933
Ay, = 186.59 Ay = —185.34
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